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2.84 When the Tucurui dam was constructed in northern
Brazil, the lake that was created covered a large forest of valu-
able hardwood trees. It was found that even after 15 years un-
derwater the trees were perfectly preserved and underwater log-

ging was started. During the logging process a tree is selected, oo

trimmed, and anchored with ropes to prevent it from shooting
to the surface like a missile when cut. Assume that a typical
large tree can be approximated as a truncated cone with a base
diameter of 8 ft, a top diameter of 2 ft, and a height of 100 ft.
Determine the resultant vertical force that the ropes must resist

when the completely submerged tree is cut. The specific grav-

ity of the wood is approximately 0.6.

For ega,z'ltlém}m,f |

Z er‘ILlC‘ !:O

So Pt

T= F"g._,% e R ‘(/‘):;,;

v a Fruncated c'»me;

Va/ame- Zh (/" f}"Vz +r )
Where . s

u.i

btase radmx
, = top racll;a.s

he;ghi

3
= 2200 -'F.L"; »
For bqo{jtml‘ 14;'::,
R,

:.0 tre

+re

(A

,/huS, | _V_ (n)(/ooﬁt>[@,q)+ (9%"1&)

e 'h’fe

Th ~1:Cnslan in ropes |

+ (1 #t) J

_V' /22 ‘/’_th)(zzo

M)ﬁ - som b

5“}‘ 6&@ b

- 2-385




